



Central Florida
Genealogical and Historical Society

P. O. BOX 177
Orlando, Florida 32802

NEWSLETTER

VOLUME X-NUMBER 1

JANUARY 1978

CONTENTS

	Page
President's Message	26
General Grant's Surrender Terms to General Lee	27
Lee's Letter of Acceptance	27
A Civil War Letter & The Dustin Massacre	28
Queries	29
Captain Caleb Chitwood Papers	30
Rebecca F. Boyd Will	49
Index	50

* * * * *

IN MEMORIAM

The members of the Society wish to extend their sympathy to the family of member Mrs. Kathleen W. Sims who passed away on October 1, 1977, after a long illness.

We extend sympathy to member, Mrs. Julia Goza, and former member Mrs. Newton Anderson, Mr. Paul Goza passed a way on November 9, 1977.

We also extend sympathy to the family of Miss Vivian I. Smith who passed away on December 5, 1977. Vivian had been our Recording Secretary for two years and will be greatly missed by our members.

* * * * *

DID YOU KNOW that Col. A.S. Cutts who is customarily misclassified as but another outstanding Virginia artillerist of the Civil War, was really a native of Pulaski County, Ga. He was the prime organizer of a Georgia battery unit, The Sumter Flying Artillery, who fought courageously in Virginia for the duration of the War. He put the War behind him in 1865, and returned to Americus, Ga., where he dedicated himself to the rebuilding of that community. At Col. Cutts' end, one of the most fitting tributes to him read: "Always held in highest esteem in Georgia, and reflecting in peace the glory of his achievements in war, he died in Americus, Georgia, in ripeness of age and honors."

DID YOU KNOW that the first submarine warfare was conducted during the Civil War?

THE CENTRAL FLORIDA GENEALOGICAL AND HISTORICAL SOCIETY

P. O. Box 177
Orlando, Florida 32802

Phone: 898-1892
January 1978

<u>OFFICERS</u>	<u>NEWSLETTER STAFF</u>
President: John Brouard	Editor: Andrea H. White
Vice Pres: Marcia Wright	Assist. Ed.: Betty B. Hughson
Rec. Sec.: Norma Richardson	Contrib. Ed.: Eileen Willis
Corr. Sec: June Valdespino & Eileen Willis	Typists: Barbara Stimpson Melanie Huggins Etta Redd
Treasurer: Claudia Weller	Publication: Francis I. Jacobs
Historian: Allen Taylor	
Counselor: Agnes Kasper	

The Central Florida Genealogical and Historical Society was organized in 1969. The Society welcomes everyone interested in genealogy, the history of our state and nation and in furthering the objectives of our Society. Annual membership begins the first day of March and ends the last day of February. Dues are \$5.00 individual and \$7.50 for two persons of the same family living in the same household.

The regular monthly meetings are held on the final Thursday of the months September through May, at 7:30 in the evening. Exceptions to the date of meetings and the place for meetings are designated by the President.

All meetings are open to the public. We welcome visitors and urge members to bring guests.

CALENDAR: February 23 March 30 April 27
(above meetings to be held at College Park Women's Civic Club,
714 W. Dartmouth, Orlando, Florida.)

PRESIDENT'S MESSAGE

Like you, the Central Florida Genealogical & Historical Society has begun a New Year. What you do depends on you, and what the Central Florida Genealogical & Historical Society does this year depends on you!

Don't be afraid to volunteer your help! Don't always leave Programs and Activities to Andrea, Betty, Eileen, James and the others. The success of YOUR organization depends on YOU.

The November meeting on Scotland by Andrea H. White and her friends, like the Mayflower and England programs by Jim Staples, and the Indian Wars program by Noel and Olive Johnson, will long be remembered by those who were fortunate enough to be at the meeting. Thank-you Andrea for volunteering the program!

Interested in having a workshop? Contact Carolyn Gaston.
Dues for 1978-1979 are now payable and due by 1 March 1978.

Remember, you are the most important member of your organization;
It's success or failure is up to you. John Brouard

GENERAL GRANT'S SURRENDER TERMS TO GENERAL LEE

HEAD QUARTERS ARMIES OF THE UNITED STATES

Appomattox C.H. Va Apl 9th 1865

Gen R. E. Lee
Comd'g C.S.A.
General,

In accordance with the substance of my letter of Gov of the 8th inst., I propose to receive the surrender of the Army of N. Va. on the following terms, to wit;

Rolls of all the officers and men to be made in duplicate, one copy to be given to an officer to be designated by me, the other to be retained by such officer or officers as you may designate. The Officers to give their individual paroles not to take up arms against the Government of the United States until properly Exchanged, and each company or regimental Commander to sign a like parole for the men of their commands -

The arms, Artillery and public property to be parked and stacked and turned over to the officer appointed by me to receive them. This will not embrace the side arms of the officers nor their private horses or baggage. This done each officer and man will be allowed to return to their homes, not to be disturbed by United States authority as long as they observe their parole and the laws in force where they may reside.

Very Respectfully
U. S. Grant
Lt. Gen.

* * * * *

LEE'S LETTER OF ACCEPTANCE

Headquarters Army S. Va.
April 9th, 1865

Lt. Gen. U. S. Grant
Comd'g Armies U.S.
General:

I have received your letter of this date containing the terms of surrender of the Army of Northern Va., as proposed by you. As they are substantially the same as those expressed in your letter of the 8th inst. they are accepted. I will proceed to designate the proper officers to carry the stipulations into effect.

Very Respectfully
Your Obt Servt
(Sgd) R. E. Lee
General

These letters were submitted by Allen R. Taylor.

THE DUSTIN MASSACRE IN MINNESOTA, 1863

The Sioux Indians were on a rampage in Minnesota in 1863. On June 29, 1863, the family of Amos DUSTIN set out from Marysville township in Central Minnesota with a yoke of oxen, and wagon filled with household goods. They traveled by way of Waverly and had dinner with an Aaron COCHRAN family. In late afternoon near the present village of Howard Lake, they were ambushed by Indians. The startled oxen ran into a tree, broke loose and returned to the Cochran home after a time. A number of people came to investigate the next morning and found the scene of a tragedy in early afternoon. Kate Dustin, wife of Amos, was found behind a log with two living children. Amos, age 28 was shot, scalped and his hands cut off. His mother, Jeanetter Dustin, age 54, and a son Robert, age 4, were also killed. Kate was shot, one arrow going through and projecting under the breast bone (A part of that arrow is preserved by the Minn. Historical Society). The baby, Albert, age 2, was thrown into the bushes and soon became quiet. Alma, covered by the body of her grandmother, was not discovered by the Indians. The Indians feasted on what they could find in the wagon, then slashed the bedding, started a fire and fled into the woods. Kate was able to find Alma under her dead grandmother's body and Albert in the bushes. They remained hidden until discovered the next day. They were brought back to Waverly, the children recovered, but Kate, age 24, died of her wounds and the four victims were buried together. Several markers and monuments have been erected including a large highway memorial marker near Howard Lake. This was dedicated June 29, 1963, the one hundredth anniversary of the tragedy with three generations of descendants taking part.

* * * * *

A CIVIL WAR LETTER

New York, June 16, 1863

"Persia"

We wrote you last on May 11. Business since then has been active for so late in the season, and supplies on hand are more reduced than they usually are. The invasion of Maryland and Pennsylvania by the Confederate Armies, the news of which has reached us this morning, will probably stop trading entirely, and the resumption of business will depend on the result of the battles which must be fought soon.

Last month has been outstanding for extraordinary activity on the stock exchange, accompanied by a great rise in all speculative values. The operations of the clearing house have risen to \$75,000,000 in one day, and on the average have exceeded \$50,000,000 daily; where as during the busiest times which preceded the crisis of 1857 they never exceeded \$25,000,000. The values which have always been considered as offering a safe and solid investment have increased little or not at all in proportion to gold and the prosperity heightened by the interests they represent. Speculations have increased especially in stocks of companies which have never paid

A CIVIL WAR LETTER (continued)

and which until recently were considered as having little or no real value. Stocks which sold two years ago for from 5-20% have soared to 100-140% 140%. Gold has been almost entirely neglected by speculators and has risen momentarily to 140 since yesterday morning. However, it has again given way to more numerous transactions with sudden fluctuations which will continue as long as the situation remains critical and uncertain as it is at the moment.

The imports of the month past are in goods of . . .

This is the translation of a letter written in French, sent from N. Y. to Paris during the Civil War. The letter, carried with pre-paid markings and no stamps, will be shown at one of our "show and tell" sessions along with a picture of the ship, "Persia" on which it was carried.

The article about the DUSTIN MASSACRE and the above CIVIL WAR LETTER were submitted by member RUSSELL CARR.

* * * * *

QUERIES

HICKMAN, Need a ny info that might help in the identity of BIRD HICKMAN, born c1880, died c1940. He was in or near the area of Monroe County, Ga. His son was Forrest Hickman.
Mrs. Andrea H. White, 2454 Carolton Road, Maitland, Fla. 32751

WILSON, Need information about Robert Wilson (wife Elizabeth) who left Northampton Co., Va. in 1660's. Lived in Somerset Co., Md. in 1668 where will was probated. Also owned property in Dorchester Co., Md. during the 1660's.
Mrs. Betty Hughson, 1148 Meuse Avenue, Orlando, Fla. 32804

* * * * *

FROM THE EDITOR

This issue of the Newsletter consists of material concerning the Civil War era. At another time we will publish an issue on the Revolutionary War.

The article entitled "An Old Virginia Bill of Sale" will be continued in the April issue of the Newsletter.

* * * * *

DID YOU KNOW: The Emancipation Proclamation was signed on 1 January 1863.

Fort Sumter surrendered and the Civil War began on
13 April 1861.

CAPTAIN CALEB CHITWOOD PAPERS

The enclosed is an abstraction of papers kept by Capt. Caleb Chitwood, who organized and led the Flintville Greys of Franklin County, Ga. There was 36 items, now 35 as the ones with astericks are of individual soldiers which I would like to give to descendents of these men. One, #26 has been given away. Following the listing of the items are the soldiers listed alphabetically, showing the report they appeared in and the content of their listing. These papers were kept by Capt. Chitwood (my grandfather) until his death in 1892 and then by his son, Carter Chitwood, then to his daughter, Mrs Zenobia Gailey until Oct. 1974 when they came into my hands. They have been studied by the Georgia Archives and are more complete than any records they or National Archives have on this Company. They have been filmed by Georgia Archives but the actual papers are still in my possession.

Personal papers of Capt. Caleb C. Chitwood, Company I, of the 34th Regiment of Georgia Volunteers, Army of the Confederate States of America, (Colonel J.A.W. Johnson).

List of Papers:

1. - Account of election of Officers:

Georgia, Franklin County - There was an election held this day at Liberty Hill Church in said county for one Capt. and three Lieutenants and we the undersigned superintendents do hereby certify that upon counting out the votes polled at said Election the above and the foregoing were the results this 10th of May 1862.

A.H. Terrell
John E. Payne free
M. Guest PP

Capt Caleb Chitwood	73 tallies
1st Lieutenant Larkin Cawthon	34 tallies
" " J.L. Cole	16 tallies
" " H.J. Mize	24 tallies
2nd W " O.H.P. Murphy	15 tallies
" " G.M. Addison	59 tallies
3rd " F.M. Hayes	29 tallies
" " Asberry Kellar	36 tallies
" " W.O. Payne	8 tallies

2. - List of Recruits: not dated but appears to be a list of ones who volunteered after the initial formation of the company. Gives name, rank, volunteered when, where, and by whom recruited. Also record of bounty due and if paid.
3. - Muster Roll: not dated, shows name, rank, where and when enlisted.
4. - Muster Roll: Camp McDonald, Ga., 16 Apr 1862. Shows name, rank, most ages, when and where joined for duty, \$50.00 bounty due and paid to each. A notation shows "45 on foot and 172 on Rail Road".

5. - Return for month of July 1862: Tynes's Station, 1/Aug., 1862.
 Present: Officers - 2 for duty
 Enlisted - 29 for duty
 11 sick
 Absent: Officers - 1 without leave
 Enlisted - 45 sick
 Aggregate: 3 officers, 33 enlisted, total 36. last aggregate 91.
 Changes: 2 enlisted, 1 officer died, 6 enlisted died.
6. - Muster Roll: Not dated but certified at Camp, McDonald on 16 May 1862 by Capt. B.F. Boniar, inspecting and mustering officer. Shows name, rank, some ages and some reports dated June, July, Aug., Sept. and Nov., 1862.
7. - *Pvt James Sellars, Chattanooga, 24th Sept., 1862 pay record.
 Capt. James Maurice, paymaster.
8. - Muster and Pay Roll, for 1 Sept. to 31 Dec., 1862. Dated 20 Feb., 1862, Vicksburg, Miss. Certified by Capt. C. Chitwood, commanding the company and Inspector and mustering officer J.J. McClendon. Conditions noted as:
 Discipline - tolerable, Instructions - tolerable, Military appearance - tolerable, Arms - in good condition, Accouterments - in good condition, Clothing - good.
9. - *Isaac Hosey - Fulton County, Ga., 20/Oct., 1862, Descriptive list and account of pay etc. certified by Wm Butt, Jr and paid by Capt. H.T. Massengale.
10. - *W.H. Mabry - Fulton County, Descriptive List and Account of pay etc. Signed by Capt. C. Chitwood, commanding, certified by Wm Butt, Jr 24/Oct., 1862. Paid by Capt. H.T. Massengale, 27/Oct., 1862, also has signature of H.W. Brown, Surgeon of ? General Hospital.
11. - *Joseph L. Henson - Lenoir's Station, Tenn., 10 Dec., 1862. Descriptive list and Account of Pay etc. - Paid by T. Livingston and signed by C. Chitwood, Capt, Commanding.
12. - *James A. Fricks - Fulton County, Ga., paid 20/Dec., 1862 by H.T. Massengale, Capt. and signed by C. Chitwood, Capt. commanding.
13. - *Samuel H. Minyard - Atlanta, GA., 26/Dec., 1862 - Descriptive list and account of pay etc. paid by Capt. H.T. Massengale and signed by C. Chitwood, Capt. commanding.
14. - *Hilton O. Minyard - Atlanta, Ga., 26/Dec. 1862, - Descriptive list and account of pay etc. paid by Capt. H.T. Massengale and signed by C. Chitwood, Capt. commanding.
15. - *Henry F. Adcock - Atlanta, Ga., 26/Dec., 1862, - Descriptive list and account of pay etc. paid by Capt. H. T. Massengale and signed by C. Chitwood, Capt. commanding.

16. - Return for month of Feb., 1863. Vicksburg, Miss., 1/Mar., 1863.
 Present: Officers - 2 for duty
 2 sick
 Enlisted - 50 for duty
 1 extra duty
 4 sick
 Absent: Officers - 2 sick
 Enlisted - 1 without leave
 17 sick
 Aggregate: 4 officers, 73 enlisted, total 77, last aggregate 73
 Changes: 1 enlisted man died.
17. - Return for month of March 1863. Vicksburg, Miss., 31 Mar., 1863.
 Present: Officers - 2 for duty
 2 sick
 Enlisted - 50 for duty
 1 for extra duty
 4 sick
 Absent: Enlisted - 1 without leave
 17 sick
 Aggregate: 4 officers, 73 enlisted, total 77, last aggregate 77.
 Changes: 6 enlisted recruits, 1 enlisted man died.
18. - Return for month of Apr., 1863. Vicksburg, Miss., 30/Apr., 1863.
 Present: Officers - 3 for duty
 Enlisted - 30 for duty
 1 extra duty
 14 sick
 Absent: Officers - 1 sick
 Enlisted - 1 on detached service
 1 without leave
 18 sick
 Aggregate: 4 officers, 73 enlisted, total 77. Last aggregate 77.
 Changes: None.
19. - Muster and Pay Roll for period 28/Feb. to 30/Apr., 1863.
 Capt. C. Chitwood, Commanding, Inspector and Mustering Officer.
20. - *James Sellars - Vicksburg, Miss., 1/July, 1863, descriptive list and
 account of pay etc. Paid in Atlanta, Ga. 30/July 1863 by B.F. Bomar,
 C. Chitwood Capt., commanding.
21. - *Warren M. Mabry - Enterprise, Miss., 22/July 1863, descriptive list and
 account of pay etc., paid by B.F. Bomar., C. Chitwood, Capt., commanding.
- 21A - *Hilton O. Minyard - Enterprise, Miss., 22/July, 1863, descriptive list
 and account of pay etc., paid by B. F. Bomar, C. Chitwood, Capt., commanding.
22. - *Cleveland, Tenn., 9/Aug., 1863. Letter from Asa Whiten to Capt. Chitwood.

23. - Muster and Pay Roll for period from 30/Apr. to 31/Oct., 1863. C. Chitwood, Capt. commanding certified that Maj. Bruster of the 56th Ga. Regt. was the mustering officer who mustered my company at Linden, Tenn. on the 31st Oct., 1863 and that he was wounded at the Battle of Missionary Ridge and is beyond reach and cannot be present to certify to the mustering of the men whose names appear on this muster and pay roll. Recapitulation shows 4 officers present, 72 enlisted, total 77. 3 men have been wounded and 6 died of disease. 5 recruits added.
24. - Muster Roll for period from 31/Oct., 1863 to 31/Dec., 1863. C. Chitwood, Capt. commanding with notation "was in the Battle of Missionary Ridge, Tenn. on the 25/Nov., 1863. J. W. Jackson, Inspector and mustering officer notations: Discipline, Instruction Military Appearance, arms, Accouterments fair, Clothing - poor. Recapitulation: 3 officers present, 1 in arrest. 30 enlisted present, 1 on extra duty, 1 on detached service, 2 absent with leave, 28 absent without leave, 10 absent sick. Aggregate 76. 1 wounded in action, 1 deserted.
25. - List of the names of Co. I, 34th Ga. Regt., that were in the Battle of Missionary Ridge near Chattanooga, Tenn. 25/Nov., 1863.
26. - *William W. Mize - 25/Nov., 1863, Dalton, Ga., descriptive list and account of pay etc., paid Athens, Ga., 30/Jan., 1864 by Maj. J. Livingston, certified by C. Chitwood, Capt. commanding.
27. - *James A. Fricks, Commutation of Rations while on furlough from 24/Mar to 9/Apr., 1864. Certified by Lt. Col. J. W. Bradley.
28. - *W.M. Mabry - Atlanta, Ga., 5/Apr., 1864, descriptive list and account of pay etc., clothing allowance paid by Maj. G. R. Fairbanks, certified by Wm. Butt, JP.
29. - *L.W. Thompson, Dalton, Ga., 14/Apr., 1864, R.P. Bateman, Surgeon in charge of receiving and distribution list and military effects of L. W. Thompson at time of his death.
30. - Muster Roll for period from 29/Feb to 30/Apr. 1864. Show the amount due soldier for clothing not drawn the 1st year. Certified by C. Chitwood, Capt. commanding at station near Dalton, Ga. Recapitulation: 4 officers, 32 enlisted present. 2 enlisted sick, 5 in arrest, 15 absent without leave, and 12 absent sick. Total aggregate 70, last aggregate 72. Changes 1 transferred, 2 died.
31. - List of Co. I, 34th Ga. Regt. present on 30/June, 1864. This is a small sheet of plain paper with list of names.
32. - *Robert L. Williams - Commutation of rations while on sick furlough from 20/Aug. to 17/Oct., 1864, certified by R.A. Yours.

33. - *W. T. Waters - Camp Cooper, Macon, Ga., 11/Sept., 1864, descriptive list and account of expense of arrest following the absentee. Signed by Maj. A. W. Rowland.
34. - *John Watkins - Camp Cooper, Macon, Ga., 15/Sept., 1864, descriptive list and account of expense of arrest of deserter. By order of Maj. A. W. Rowland and signed by W. P. Washburn.
35. - Athens, Ga., 30/Sept., 1864 - record of transfer application between exchange of J. M. Roman of Co. H, 30th Ga. Bat. and Wm Farmer of Co. I, 34th Ga. Regt. Approved by Capt. Wm. S. Erwin of Co. H and Capt. C. Chitwood of Co. I. Approved by Col. Andrew Young.
36. - Muster and Pay Roll for period from 31/Dec. 1864 to 28/Feb., 1864. Paid by Capt. Chas. Vedor, certified by Capt. C. Chitwood at Cheraw, S.C., 28/Feb 1865. Capt. G. W. Blackwell Inspector and Mustering officer notations: Discipline, Instructions, and military appearance - fair, Arms - good, Accouterments - complete, clothing - inferior. Recapitulations: 2 officers on duty, 4 enlisted men on duty. In arrest - 1 officer, 2 enlisted. Absent - 1 officer sick, 18 enlisted. Enlisted absent without leave - 13, sick 18, in arrest - 3. Changes - 2 killed in action, 2 died of wounds, 4 died of disease. Total on roll absent and present - 70, last aggregate 70.

Members of the Company will be listed alphabetically and the number of the record in which he is shown will be listed along with the information given. If it is a duplication of a previous entry, it will not be repeated. Asterick denotes a personal paper on the man shown.

- Adcock, Henry F. - #1 - Present. #3 - Pvt., 12/May 1862, Carnesville. #4 - Age 25, bounty due and paid. #6 - #8 - paid 2 months @ \$11.00 plus clothing - \$42.29. #15* - Eyes-blue, light hair, fair complexion, 5ft.9in. tall, born Franklin, Farmer, paid \$61.96 for 12/May to 1 Nov., 1862, back of record shows settled on pay roll to 1 Sept. #19 - paid 2 months @ \$11.00 - \$22.00. #23 - paid 6 months @ \$11.00 - \$66.00. #24 - present. #30 - present and due \$142.63.
- Adcock, Joshua Wellborn - #2 - Age 37, Pvt., 20/Oct., 1863, Carnesville, bounty due and paid. #23 - has not been paid and bounty due, paid for 11 days and bounty \$54.03. #24 present. #36 - died with disease at hospital LaGrange, Ga., 25/Feb., 1864.
- Addison, Clark T. - #1 - Present. #3 - 5th Sgt., 12/May 1862, Carnesville. #4 - Pvt. age 30, bounty due and paid. #6 - received furlough from 21/May til 2 June 1862. #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - appointed 5th Sgt by Capt. commanding 1/June 1863. Paid for 2 months @ \$11.00 - \$22.00. #23 - Pvt., paid for 6 months @ \$11.00 - \$66.00. #24 - present. #30 - 5th Sgt. due \$120.83. #31 - present. #26 - left sick on Sand Mountain, Ala., Oct., 1864.

Addison, General Marion - #1 present. #4 - present. 2nd Lt., age 23, 12/May 1862, Carnesville. #5 - present. #6 - . #8 - present. #16 - present. #17 - present. #18 - present. #18 - present. #19 - present. #23 - 1st Lt. - consigned to hospital in Atlanta 10/Oct. 1863. #24 - present. Leather book of records kept shows "Dismissed from service 2/Jan. 1864.

Addison, Reuben Mitchell - #2 - Age 36, Pvt., 14 Feb. 1862, Carnesville, bounty due and paid. #3 - #19 - paid 2 months @ 11.00 - \$22.00. #23 - absent without leave. #24 - absent without leave. #30 - due \$106.98. #31 - present. #36 - deserted from hospital at Augusta 30/Nov 1864.

Addison, Thompson B. - #1 - Present. #3 - Pvt., 12/May 1862, Carnesville. #4 - 2nd Sgt., age 18, bounty due and paid. #6 - received furlough from 21/May til 2/June 1862. #8 - paid for 4 months @ \$17.00 - \$68.00. #18 - Pvt. paid 2 months at \$11.00 - \$66.00. #24 - present. #25 - fell down and hurt his knee and claimed could not get there. #30 - due \$134.83. #31 - present. #36 - absent without leave since 30/Jan., 1965.

Andrews, James M. Jr. - #2 - Age 24, Pvt., 22/June, 1862, Chattanooga, Tenn., bounty due and paid. #3 - 3rd Sgt., #6 - present. #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - captured at the battle of Baker's Creek, Miss. #23 - paid for 4 months @ \$13.00 - \$52.00. #24 - 1st Cpl. #25 - was in the charge. #30 - 3rd Sgt. - due \$128.46. #21 - present. #36 - absent without leave since 30/Jan., 1865.

Andrews, Jesse Nesser - #2 - Age 18, Pvt., 14/Feb. 1863, Carnesville, bounty due and paid. #3 - 4th Cpl. #19 - Pvt., paid for 2 months @ \$11.00 - \$22.00. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #25 - run out before the charge. #30 - 4th Cpl. - due \$107.65. #31 present. #36 - consigned to the hospital 26/Sept., 1864.

Andrews, William S. - #2 - Age 18, Pvt., 14/Feb., 1862, Carnesville, bounty due and paid. #3 - 2nd Cpl. #19 - Pvt., paid 2 months @ \$11.00 - \$22.00. #23 - paid for 6 months @ 11.00 - \$66.00. #24 - present. #25 - was in the charge. #30 - 2nd Cpl., due \$80.98. #31 - present. #36 - in arrest since 5/Jan., 1865, paid for 4 months @ ? \$51.06.

Ayers, William C. - #2 - Age 27., Pvt., 17/June 1862, Carnesville, bounty due and paid. #3 - #5 - 30/July 1862, Chattanooga - furlough 30 days for inability. #6 - #8 - at home sick. #19 - paid for 2 months @ \$11.00 - \$22.00. #23 - at home sick. #24 - absent without leave. #30 - consigned to hospital at Dalton 23/Feb., 1864. #36 - same report.

Baird, Russell J. #3 - Pvt., 12/May 1862. Carnesville. #4 - Age 33, bounty due and paid. #6 - received furlough from 12/May til 2/June 1862. #8 - sick at hospital. #18 - consigned to hospital at Chattanooga. #23 - absent without leave. #30 - absent without leave since 31/Dec., 1863. #36 - Killed in action in line at Kinnesaw Mountain 26/June 1864.

Bell, Thomas K. #1 - present. #4 - Pvt., age 20, 12/May 1862, Carnesville, bounty due and paid. #6 - present. #8 - died 11/Nov., 1862.

Bennett, Charles C. - #1 - present. #3 - Pvt., 12/May, 1862, Carnesville. #4 - age 19, bounty due and paid. #6 - present. #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - captured in Baker's Creek fight, Miss., 16/May 1863. #23 - at home sick. #24 - absent without leave. #30 - in confinement in Brigade guard since 14/Feb., 1864. Due CS \$10 expense of arrest and transportation, due \$104.85. #31 - present. #36 - deserted on the march from Atlanta to Jonesborough 2/Sept., 1864.

Bennett, John H. - #1 - present. #3 - 3rd Cpl. 12/May, 1862, Carnesville. #4 - Pvt., bounty due and paid. #6 - present. #8 - sick at hospital. #19 - wounded and captured at Battle at Baker's Creek, Miss. #23 - at home with wounds received at Baker's Creek. #24 - present. #30 - consigned to hospital at Dalton 31/Apr., 1864. #36 - went home from hospital at Augusta on pass for 12 days in Oct., 1864 and never returned.

Bennett, Philmon Jr. - #4 - Pvt., 12/May 1862, Carnesville. Bounty due and paid. #6 - . #8 - died 9/Decl., 1862.

Brady, James Elias - #1 - present. #3 - Pvt., 12/May 1862, Carnesville. #4 - age 20, bounty due and paid. #6 - , #8 - has not been paid for 7 months, paid 20 days @ \$11.00 plus clothing allowance \$104.62. #19 - paid for 2 months @ \$11.00 - \$22.00. #23 - absent without leave. #24 - absent without leave. #30 - present and due \$155.63. #31 - present. #36 - absent without leave since 30/Jan., 1865.

Bradley, Hewey M. - #2 age 18, Pvt., 22/June 1862, Chattanooga, Tenn., bounty due and paid. #6 - . #8 - sick at hospital. #18 - sick at hospital. #23 - died with disease 16/Dec., 1862.

Brady, William M. - #1 - present. #4 - Pvt., age 18, 12/May 1862, Carnesville, bounty due and paid. #5 - died in Atlanta with affects of measles 3/July . . 1862.

Brock, Reuben C. - #2 - age 37, Pvt., 26/June 1862, Knoxville, Tenn., bounty due and paid. #6 - . #8 - paid for 4 months @ \$11.00 - \$44.00. #16 - died with affects of jaundice at Vicksburg, Miss., 25/Feb., 1863.

Broom, John J. - #2 - age 26, Pvt., 17/June 1862, Carnesville, bounty due and paid. #3 - . #6 - . #8 - has not been paid before, paid 6 months @ \$11.00 - plus bounty and clothing allowance - \$141.42. #23 - absent without leave. #24 - present. #30 - absent without leave since 31 Dec 1863. #31 - present. #36 - deserted from Atlanta about 28/July 1864.

Briley, William J. - #1 - present. #4 - Pvt., 12/May 1862, Carnesville, bounty due and paid. #6 - died 15/June 1862.

Buchanon, James W. - #3 Pvt., 12/May 1862, Carnesville. #4 - age 18, bounty due and paid. #6 - . #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - present. #23 - paid 6 months @ \$11.00 - \$66.00. #24 - present. #25 - was in the charge. #30 - returned to his company from Div. Pioneer 19/Apr., 1864 and due \$149.83. #31 - present. #36 - present and paid for 4 months \$49.06.

Bushey, Miffree - #1 - present.

Camp, Wilburn S. - #4 - Pvt., age 20, 12/May 1862, Carnesville. #6 - #8 - absent sick. #19 died with disease 22/Oct. 1862.

X Canady, Andrew J. (Keneday) - #2 Pvt., 20/Oct 1862, Carnesville, bounty due. #3 - #23 - consigned to hospital while stationed at Sweetwater, Tenn. #24 - on furlough from hospital at Cassville Station. #30 - at General Hospital Atlanta after being transferred for sick furlough, never paid. #36 - this man has been home without proper leave since about 15/Nov., 1864.

Y Canady, Phillip S. - #1 - present.

Carter, Lewis C. - #3 - Pvt., 12/May 1862, Carnesville, #4 - age 21, bounty due and paid. #6 - #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - paid 2 months @ \$11.00 - \$22.00. #3 - paid 6 months @ \$11.00 - \$66.00. #24 - present. #30 - present, and due \$101.83. deserted on march from Atlanta to Jonesborough 2/Sept., 1864.

Carter, Thomas J. - #2 - age 31, Pvt., 1/July 1862, Whitesides, Tenn., bounty due and paid. #6 - #8 - paid for 2 months @ \$11.00 plus bounty and clothing \$92.29. #19 - present. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #30 - present and due \$151.63.

Carter, William A. - #1 - present. #3 - Pvt., 12/May 1862. #4 - age 27, Carnesville. bounty due and paid. #6 - received furlough from 21/May til 2/June 1862. #8 - paid for 4 months @ \$11.00 - \$44.00. #19 - paid for 2 months @ \$11.00 - \$22.00. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #30 - absent without leave since 18/Jan. 1864. #36 - wounded 23/June 1864 and sent to hospital.

Cash, L. H. - #1 - present.

Cawthon, Chesley C. - #1 - present. #3 - Pvt., 12 May 1862, Carnesville. #4 - age 24, bounty due and paid. #6 - #8 - paid 4 months @ \$11.00 - \$44.00. #19 - paid for 2 months @ \$11.00 - \$22.00. #23 - paid for 6 months @ \$11.00 - \$66.00. #25 - was in the charge. #30 - present and due \$147.63. #31 - present. #36 - consigned to hospital 23/Feb 1864.

Cawthon, Larkin - #1 - present. #4 - 1st Lt., 12/May 1862, Carnesville. #5 - absent for inability furlough 30 days commencing 22 June 1862. #6 - #8 - sick at hospital. #15 - in hospital in Atlanta. #17 - same report. #18 - on sick furlough period of 30 days from 11/Apr., 1863. #19 - discharged 27/Apr., 1863.

Cheek, Daniel J. - #1 - present. #4 - Pvt., age 24, 12/May 1862, Carnesville, bounty due and paid. #6 - died 14/Oct., 1862 at Knoxville, Tenn.

Cheek, James R. - #1 - present. #3 - Pvt., 12/May 1862. #4 - age 30, Carnesville. #6 - received furlough from 21/May til 2/June 1862. #8 - sick at hospital. #19 - paid for 6 months @ \$11.00 - \$66.00. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #30 - returned from hospital 11/Apr. 1864 and due \$139.98. #31 - present. #36 - consigned to hospital 25/Aug. 1864.

Cheek, Madison W. - #1 - present. #3 - Pvt., 12/May 1862, Carnesville. #4 - age 21, bounty due and paid. #6 - #8 - sick at hospital. #19 - paid for 11 months @ \$11.00 plus clothing allowance \$148.62. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #25 - in the charge. #30 - consigned to hospital at Dalton 23/Feb. 1864. #36 - same report.

Cheek, Willis J. - #1 - present. #4 - Pvt., age 37, 12/May 1862, Carnesville, bounty due and paid. #5 - died in Atlanta with affects of measles 5/July 1862. #6 - same report.

Childs, John - #31 - Pvt. present. #36 - 10/Mar., 1864, Decatur, Ga., was never paid, consigned to hospital at Augusta 15/Mar., 1865.

Clark, Thomas, S. - #1 - present. #4 - Pvt., 12/May 1862, Carnesville. #6 - received furlough from 21/May til 2/June 1862. #8 - absent sick. #19 - absent sick. #23 - died with disease 9/Nov., 1862.

Cole, Aaron S. - #1 - present. #3 - 1st Lt., 12/May 1862, Carnesville. #4 - 1st Sg' age 25, bounty due and paid. #6 - #8 - 3rd Lt., sick at hospital. #16 - left in hospital at Meridian, Miss. 5/Jan., 1863. #17 - present. #19 - present. #23 - present, 2nd Lt. #24 - present #30 - present, 1st Lt. #36 - consigned to hospital 24/Aug. 1864.

Cole, Jacob Lewis - #1 - present. #3 - Pvt., 12/May 1862. #4 - 4th Sgt., age 31, Carnesville, bounty due and paid. #6 - received furlough from 21/May til 5/June 1862. #8 - 1st Sgt. elected 11 Dec. 1862 and has not been paid before paid 7 months, 20 days at \$20.00 plus clothing allowance - \$152.72. #19 - paid for 2 months @ \$20.00 - \$40.00. #23 - paid for 6 months @ \$20.00 - \$120.00. #24 - elected Jr. 2nd Lt. 13/Dec 1863. #25 - was in charge. #30 - Pvt. and due \$155.63. #31 - present. #36 - absent without leave since 30 Jan. 1865.

Crump, Elijah T. - #3 Pvt., 12/May 1862. #4 age 24, Carnesville. #6 - #8 - 2nd Cpl., sick at hospital. #19 - paid for 2 months at \$13.00 - \$26.00. #23 - absent without leave. #30 - absent without leave since 31 Dec. 1863. #36 - at home without proper leave since 13 Sept 1863.

Crump, James H. - #2 - age 27, Pvt., 21 Mar. 1863, Carnesville, bounty due and paid. #3 - 4th Sgt. #19 - Pvt., paid for 1 month, 11 days plus bounty \$65.03. #23 - paid for 6 months @ \$11.00 - \$66.00. #24 - present. #30 - present, 4th Sgt. and due \$91.57. #31 - present. #36 - deserted from Atlanta 8 Aug. 1864

- Crump, James M. - #2 age 27, Pvt., 21 Mar 1863, Carnesville, Bounty due and paid. #6 #8 absent sick. #19 appointed 4th Cpl. 1 Mar 1863, paid for 2 months @ \$13.00 - \$26.00. #23 paid for 6 months @ \$13.00 - \$78.00. #24 3rd Cpl., at home on furlough. #25 was in the charge but did not fire his gun. #30 absent without proper leave since 27 Jan 1864. #36 at home without proper leave since 27 Jan 1864.
- Crump, William T. - #2 age 19, Pvt., 17 June 1862, Carnesville, bounty due and paid. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 died of disease 13 Aug 1863.
- Davis, Freelan C. - #1 present. #3 Pvt., 12 May 1862. #4 age 22. #6 #8 absent sick. #19 has not been paid, paid for 11 months, 20 days @ \$11.00 plus clothing allowance - \$148.62. #23 at home sick. #24 absent without leave. #30 at home sick and unable to walk since 1 June 1862. #36 at home without legal authority since the garrison at Vicksburg and was exchanged for.
- Davis, Robert Milford - #1 present. #3 1st Sgt., 12 May 1862, Carnesville. #4 Pvt., age 20. #6. #8 paid for 4 months at \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 elected 1st Sgt 15 Dec 1863. #25 lay behind the breastworks and the rest charged. #30 present and due \$104.83. #31 present #36 present.
- Davis, William Van - #1 present. #3 Pvt., 12 May 1862. #4 age 22, Carnesville. #6 taking place of Henry L. J. McCurley. #8 absent sick. #19 absent sick. #23 present and due for clothing and 12 months @ \$11.00 - \$152.29 #24 present. #25 lay behind the breastworks and the rest charged. #30 present. #31 paid for 4 months @ ? \$85.06. #36 wounded near Franklin, Tenn 17 Dec 1864 and sent to hospital.
- Edmonds, Henry W. - #1 Present. #3 Pvt., 12 May 1862. #4 age 30. #6 #8 absent sick. #16 deserted 26 Dec 1862 near Camp McDonald. #19 captured at Battle of Baker's Creek, Miss. #23 at home sick. #24 absent without leave. #30 absent with leave since 31 Dec 1863. #31 present. #36 died with disease at home on furlough, 15 Jan 1865.
- Edmonds, Samuel - #4 Pvt., age 25, 12 May 1862, Carnesville. #6 died with disease 13 Nov 1862. #8 same report.
- Fain, John - #1 present. #4 Pvt., age 32, 12 May 1862, Carnesville. #6 #8 at hospital sick. #19 absent sick. #23 consigned to hospital at Knoxville Oct 1862. #24 same report.
- Farmer, Lewis F. - #1 present. #3 Pvt. 12 May 1862. #4 age 18. #6. #8 paid for 4 months @ \$11.00 - \$44.00. #19 absent sick. #23 at home sick. #24 absent without leave. #30 consigned to hospital at Dalton 11 Feb 1864. #36 at home without legal authority since the last of May 1864.

Farmer, William M. - #1 present. #3 Pvt. 12 May 1862. #4 age 33, Carnesville. #6. #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00-\$22.00. #23 absent without leave. #30 absent without leave since 31 Dec 1863. #31 same report. #35* application for exchange of units with J.M. Roman of Co. H 30th Ga. Bat. #36 deserted from Atlanta 18 July 1864.

Fricks, James A. - #3 Pvt. 12 May 1862. #4 age 21, Carnesville. #6. #8 paid for 2 months @ \$11.00 plus clothing allowance \$42.29. #12* Descriptive list and account of pay, etc. Eyes blue, fair complexion, 5' 3" tall, born Anderson Dist., SC, Farmer, paid \$61.96 for period 12 May to 1 Nov 1862, but noted on back that was for period to 1 Sep. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #27* Computation of rations while on furlough 24 Mar to 9 Apr 1864. #30 present and due \$141.63. #31 present. #36 captured Franklin, Tenn. 17 Dec 1864.

Haddick, J. M. - # present.

Hayes, David J. - #3 Pvt., 12 May 1862. #4 age 18, Carnesville. #6 received furlough from 12 May 1862 to 2 June 1862. #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00-\$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #25 in the charge. #30 present and due \$146.83. #31 present. #36 absent without leave since 30 Jan 1865.

Hayes, Francis M. - #1 present. #4 5th Sgt., age 34, 12 May 1862. Carnesville, bounty due and paid. #6 received furlough from 21 May to 2 June 1862. #8 paid for 4 months @ \$11.00 - \$44.00. #19 absent sick. #23 died with disease 17 July 1863.

Henson, Joseph L. - #1 present. #4 Pvt., age 28, 12 May 1862. #6 received furlough from 21 May to 2 June 1862, #8 absent without leave. #11* Descriptive list, blue eyes light hair, fair complexion, 6 ft tall, born in Murray County, Ga., Farmer, paid for clothing and \$66.00 pay \$86.29. Note: Is at work in the armory at Athens, Ga, was detailed 12 Nov 1862 and is only due pay in the line up to the time he was detailed. #16 was at Turner's Station, Tenn Aug 1862 or as near that time as I can ascertain. #17 failed to return to camp at expiration of furlough. #18 detailed to work in the armory at Athens. #19 #23 #24 same reports.

Hix, James Almond - #1 present. #3 Pvt., 12 May 1862. #4 age 18, Carnesville. #6 #8 paid for 4 months @ \$11.00-\$44.00. #19 paid for 2 months @ \$11.00-\$22.00. #23 at home sick. #24 at home sick. #30 absent without leave since 31 Dec 1863. #36 this man has been at home without proper authority since the last part of Aug 1864.

Holcomb, Benjamin H. - #1 2nd Cpl., age 34, 12 May 1862. Carnesville, bounty due and paid. #6 received furlough from 21 May to 2 June 1862. #8 died 10 Dec 1862, was 1st Sgt for the time of this payroll till he died.

Hosey, Isaac - #1 present. #3 Pvt., 12 May 1862. #4 Carnesville. #6 #8 at home on furlough. #9* Descriptive list, age 26, black eyes, black hair, dark complexion, 5' 5" tall, born in Franklin County, Farmer, paid \$40.33 pay. #19 paid for 3 months @ \$11.00 plus clothing allowance \$108.29. #23 at home sick. #24 absent without leave. #30 at home sick with rheumatism since 1 Dec 1862. #36 absent without leave since 30 Jan 1865.

? Jordin, W.P. - #1 present.

Hosey, John - #1 present. #4 Pvt., 12 May 1862, Carnesville. #6 died at Nusam Hospital in Chattanooga 13 Aug 1862.

House, Z.L. - #1 present.

Keller, Asbury - #1 present. #4 3rd Lt., age 22, 12 May 1862, Carnesville. #5 died with measles 20 July 1862. #6 same report.

Loftis, Andrew Jackson - #4 Pvt., age 18, 12 May 1862. Carnesville. #6 died 29 June 1862.

Loftis, William E. - #4 Pvt., age 27, 12 May 1862, Carnesville. #6 died 29 Nov 1862. #8 same report.

Mabry, Joel T. - #1 present. #3 Pvt., 12 May 1862. #4 age 18, Carnesville. #6 #8 has not been paid before. Paid for 7 months, 20 days plus clothing \$104.62. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 absent without leave. #25 complained of being not well but walked out as well as anybody else. #30 released from confinement 23 Mar 1864 after sentence being executed, due \$163.63. #31 present. #36 furloughed for 30 days 22 Feb 1865 and has not returned.

Mabry, Russell C. - #1 present. #3 1st Cpl, 12 May 1862, Carnesville. #4 4th Cpl., age 19, Carnesville bounty due and paid. #6 received furlough for 10 days. #8 1st Cpl and paid for 4 months @ \$13.00 - \$52.00. #19 paid for 2 months @ 13.00 - \$26.00. #23 paid for 6 months @ \$13.00 - \$78.00. #24 4th Cpl. #30 1st Cpl, present and due \$103.83. #31 present. #36 absent without leave since 30 Jan 1865.

Mabry, Warren M. - #2 age 34, Pvt, 17 June 1862. Chattanooga, Tenn, bounty due and paid. #3 #6 #8 paid for 2 months @ \$11.00 - \$22.00. #10* Descriptive list, blue eyes, red hair, fair complexion, 6' tall, born Franklin County, Farmer, paid for clothing and pay \$54.33. #19 present. #23 at home sick. #24 absent without leave. #28*

Descriptive list, paid for clothing and pay \$54.33. #30 returned from hospital 6 Apr 1864 and due \$84.86. #3 this man has been home without proper leave since 17 Nov 1864. #21 descriptive list, 22 July 1863.

Meeler, William O. - #2 age 18, Pvt., 17 June 1862, Carnesville, bounty due and paid. #3 #6 #8 at home sick. #19 paid for 2 months @ \$11.00 - \$22.00. #23 absent without leave. #24 same report. #30 in confinement since 24 Jan 1864 and due \$165.63. #6 deserted from Atlanta about 28 July 1864.

Minyard, Milton O. - #1 present. #3 Pvt., 12 May 1862. #4 age 21, Carnesville. #6 #8 paid for 2 months @ \$11.00 plus clothing allowance - \$42.29. #11 Descriptive list, age shown as 25?, black eyes, black hair, 5' 5" tall, born in Franklin County, farmer and paid \$61.96. #19 present. #21* Descriptive list, age 24, grey eyes and paid \$22.00. #23 at home sick. #24 absent without leave. #30 in confinement since 14 Feb 1863 and due to pay CS \$10.00 for expenses of arrest and transportation. Due \$149.83. #31 present. #36 consigned to hospital 30 Oct 1864.

Minyard, Samuel H. - #3 Pvt, 12 May 1862. #4 3rd Cpl, age 27, Carnesville, bounty due and paid. #6 #8 paid for 2 months @ \$11.00 - \$22.00 plus clothing allowance \$20.29. #13* Descriptive list, grey eyes, dark hair, dark complexion, 5' 4" tall, born in Franklin County, farmer, paid \$73.23. #19 paid for 2 months @ \$11.00 - \$22.00. #23 absent without leave. #24 same report. #30 in confinement since 14 Feb 1864 and due CS \$10.00 expense of arrest and transportation, due \$154.63. #36 consigned to hospital 24 Aug 1864.

Mize, Henry J. - #1 present. #3 Pvt, 12 May 1862. #4 age 33, Carnesville. #6 received furlough from 22 May til 2 June 1862. #8 appointed assistant commissary, paid for 4 months @ \$11.00 - \$44.00. #16 Commissary Sgt of reg. #17 #18 same report. #19 elected 2nd Lt, 12 May 1863 and paid \$4.40. #24 3rd Lt., at home in detail and reduced in rank by board of examiners 7 Dec 1863. #30 present and due \$79.05. #31 present. #36 died from wounds received in action at Jonesborough 15 Sep 1864.

Mize, William W. - #3 3rd Lt., 12 May 1862, Carnesville. #4 Pvt. age 16. #6 #8 4th Sgt elected 1 Feb 1863, has served in the time of this payroll 2 months as Pvt and 2 as Cpl, paid \$48.00. #19 paid for 2 months @ \$17.00 - \$34.00. #25 wounded at the Battle of Missionary Ridge and sent to the hospital. #24 at hospital in Marietta wounded. #25 in the first of the fight got wounded in right hand and thigh. #26* Descriptive list, age 18, black eyes, sandy hair, fair complexion, 5' 8" tall, born in Franklin County, farmer, paid \$136.00. Note: he was in the Battle of Baker's Creek and in the seige at Vicksburg, Miss, was wounded in the hand and thigh at the Battle of Missionary Ridge, Tenn and has been able and done duty near all the time since he

enlisted and has never been absent without leave since he entered service. #30 3rd Lt, returned from sick furlough 18 Apr 1864.
#31 present. #36 in arrest since 5 Jan 1865.

Mosley, Samuel - #4 Pvt, 12 May 1862, Carnesville. #6 #8 died 17 Dec 1862.

Murphy, O.H.P. - #1 present.

Nortin, Naver - #1 present.

Nations, Robert O. - #2 age 19, Pvt, 1 Jan 1864, Carnesville, bounty due.
#3 #30 never paid and bounty due, consigned to hospital - Dalton, Ga
22 Feb 1864. #36 died with disease at Fairgrounds Hospital, Atlanta
15 Mar 1864.

Norton, Jerry M. - #1 present. #3 Pvt., 12 May 1862. #4 age 22, Carnesville.
#6 #8 5th Sgt., elected 1 Feb 1863, paid for 4 months @ \$17.00 -
\$68.00. #19 reduced in rank by order of Col commanding 1 June 1863,
paid 2 months @ \$17.00 - \$34.00. #23 absent without leave and reduced
in rank. #24 absent without leave. #30 absent without leave since
31 Dec 1863. #31 present. #36 died from wounds received in action
15 July 1864.

Norton, John C. - #3 Pvt., 12 May 1862. #4 age 19, Carnesville. #6 #8 at
home sick. #19 has not been paid, paid for 11 months and 20 days
plus clothing allowance \$148.62. #23 absent without leave. #24
same report. #30 same report. #36 at home without proper authority
since Oct 1863.

Oliver, Enos G. - #2 age 38, Pvt., 14 Feb 1863, Carnesville, bounty due
and paid. #19 captured at Battle of Baker's Creek, Miss 16 May 1863.
#23 #24 same reports.

Oliver, Simean J. - #2 age 18, Pvt., 20 Feb 1864, Carnesville, bounty due.
#3 #30 never paid and bounty due, present. #31 present. #36 4th Sgt
paid bounty and 4 months - \$128.72.

Parks, George M. - #2 age 18, Pvt., 20 Oct 1862, Carnesville, bounty due
and paid. #3 #23 has not been paid and bounty due, paid \$54.03. #24
present. #25 in the charge. #30 consigned to General Hospital 31 Mar
1864. #36 killed in action at Jonesborough 31 Aug 1864.

Payne, Alvin - #1 present. #3 2nd Sgt, 12 May 1862, Carnesville. #4 Pvt,
age 24(?). #6 #8 has not been paid before, paid for 7 months, 20
days plus clothing allowance - \$104.62. #19 paid for 2 months @
\$17.00 - \$34.00. #23 2nd Sgt, paid for 6 months @ \$17.00 - \$102.00.
#24 present. #30 present and due \$160.63. #31 present. #36
deserted on the march from Atlanta to Lovejoy Station 2 Sep 1864.

- Payne, General Floyd - #1, present. #4 Pvt., 12 May 1862, Carnesville. #6 #8 at hospital sick. #19 absent sick. #23 consigned to hospital in Jackson, Miss Jan 1863. #24 same report.
- Payne, John Martin - #1 present. #3 2nd Lt., 12 May 1862, Carnesville. #4 Pvt, age 19 #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 elected 3rd Sgt 15 Dec 1863. #25 was in the Charge, #30 2nd Lt., #31 present. #36 present.
- Payne, Samuel - #1 present.
- Payne, Sanford - #4 Pvt., 12 May 1862, Carnesville. #6 #8 left in Kentucky sick. #19 on roll with no notation. #23 absent sick. #24 absent sick, place not known.
- Payne, Terrell M. - #1 present. #3 Pvt, 12 May 1862. #4 3rd Sgt, age 21, Carnesville, bounty due and paid. #6 #8 absent sick. #19 paid for 2 months @ \$17.00 - \$34.00. #23 at home sick. #24 absent without leave, reduced in rank 15 Dec 1863. #30 absent without leave since 31 Dec 1864. #31 present. #36 in arrest since 5 Jan 1865.
- Payne, Verner - #1 present. #3 Pvt, 12 May 1862. #4 Carnesville. #6 #8 has not been paid before, paid for 7 months, 20 days plus clothing allowance \$104.62. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #30 present and due \$116.00. #36 absent without leave since 30 Jan 1865.
- Payne, William D. - #1 present. #3 Pvt, 12 May 1862. #4 age 24, Carnesville. #6 #8 sick at hospital. #19 paid for 2 months @ \$11.00 - \$22.00. #23 absent without leave. #24 same report. #30 in confinement since 24 Jan 1864 and due \$145.08. #36 consigned to hospital 24 Aug 1864.
- Payne, William O. - #1 present. #3 Pvt, 12 May 1862. #4 age 24, Carnesville #6 #8 sick at hospital. #19 paid for 2 months @ \$11.00 - \$22.00 #23 absent without leave. #24 same report. #30 in confinement since 24 Jan 1864 and due \$145.08. #36 consigned to hospital 24 Aug 1864.
- Payne, William O. - #1 present. #3 Pvt, 12 May 1862. #4 Carnesville. #5 1 July 1862 Whitesides Tenn recruit from Franklin County. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #30 sick in quarters, due \$149.83. #31 present. #36 present and paid for 4 months - \$49.06.
- Pope, William - #1 present. #2 age 33, Pvt, 1 July 1862, Whitesides, Tenn, bounty due. #6 #8 died 17 Sep 1862

Purcell, John Jasper - #1 present. #4 Pvt, age 18, 12 May 1862, Carnesville. #5 died in Atlanta of measles 11 July 1862.

Ramsey, William - #4 Pvt, 12 May 1862, Carnesville. #5 died in Atlanta with affects of measles 12 July 1862.

Roman, William W. - #1 present. #3 Pvt, 12 May 1862. #4 age 21, Carnesville. #6 #8 appointed fifer of Regt 1 Dec 1862 and paid for 4 months \$55.00. #19 captured at Battle of Baker's Creek, Miss. #23 absent without leave. #24 same report. #30 absent without leave since 31 Dec 1864. #36 at home without proper authority since 18 Sep 1863.

Savage, Allen (Alvin) - #1 present. #3 Pvt., 12 May 1862. #4 age 32, Carnesville. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 absent without leave. #24 same report. #30 absent without leave since 31 Dec 1863. #31 present. #36 absent without leave since 30 Jan 1865.

Scott, John A. - #4 Pvt., 12 May 1862, Carnesville. #6 died at Nusam Hospital in Chattanooga 26 Aug 1862.

Scott, William Freeman - #3 Pvt, 12 May 1862. #4 age 22, Carnesville. #6 received furlough from 12 May to 2 June 1862. #8 at home sick. #19 aid for 2 months @ \$11.00 - \$22.00. #23 consigned to hospital at Marietta, Ga 12 Feb 1863. #24 at home on furlough from hospital. #30 on sick furlough from hospital for 30 days since 8 Dec 1863. #36 absent without leave since 30 Jan 1865.

Smith, J. A. - #1 present.

Sollers, E. - #1 present.

Sellers, James - #1 present. #3 Pvt, 12 May 1862. #4 Carnesville. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #7* pay records, age 22, blue eyes, light complexion, born in N.C., paid at Chattanooga 24 Sep 1862, \$40.33. #19 present. #20 Description list, 5' 8" tall born Hayward County, N. C. and paid \$22.00, remarks: has been paid commutation money and has been in the entrenchment most of the time during the seige of Vicksburg. #23 at home sick. #24 absent without leave. #30 at home sick as shown by a creditable surgeons certificate. #36 left sick on Sand Mountain in Oct 1864.

Smith, James M. - #2 age 25, Pvt, 10 Feb 1863, Carnesville, bounty due and paid. #3 #19 paid for 2 months @ \$11.00 - \$22.00. #23 absent without leave. #24 same report. #30 absent without leave since 31 Dec 1863. #31 present. #36 absent without leave since 30 Jan 1865.

Smith, John - #3 Pvt, 12 May 1862. #4 age 18, Carnesville. #6 #8 at home sick. #16 deserted near Camp McDonald 26 Dec 1862. #19 absent sick. #23 absent without leave. #24 same report. #30 absent without leave since 31 Dec 1863. #36 at home without proper leave since 13 Sep 1863.

Smith, Stanford M. - #1 present. #4 Pvt, 12 May 1862, Carnesville. #6 died on Lookout Mountain near Chattanooga with affects of measles July 1862.

Smith, Urban W. - #1 present. #4 Pvt, age 34, 12 May 1862, Carnesville. #6 died on Lookout Mountain, Tenn of fever 8 Sep 1862.

Smith, William W. - #2 Pvt, 1 May 1864, Carnesville, bounty due. #3 #30 has never been paid and bounty due. #31 present. #36 was never paid, consigned to hospital 9 Aug 1864.

Sutherland, J. R. - #1 present.

Taylor, Francis W. - #2 age 18, Pvt, 20 Aug 1862, Carnesville, bounty due and paid. #6 #8 died 31 Dec 1862.

Thomason, Francis Marion - #1 present. #4 Pvt, age 19, 12 May 1862, Carnesville. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 died with disease 27 July 1863.

Thomason, George W. - #1 present. #4 Pvt, age 24, 12 May 1862, Carnesville. #6 #8 discharged 19 Jan 1863.

Thompson, Lawrence W. - #2 age 44, Pvt, 20 Oct 1863, Carnesville, bounty due and paid. #23 has not been paid and bounty due, paid \$54.03. #24 present. #29* Military clothing at time of death listed as: 1 shirt appraised @ \$1.00; 1 pair drawers @ .50¢; 1 jacket @ \$3.00. #36 died with disease at General Hospital, Dalton, 31 Jan 1864.

Walker, William E. - #1 present. #4 Pvt, age 34, 12 May 1862, Carnesville. #5 died in Atlanta with affects of measles 8 July 1862. #6 same report.

Walters (Waters), Franklin D. - #1 present. #3 Pvt, 12 May 1862. #4 age 22, Carnesville. #6 received furlough from 12 May to 2 June 1862. #8 at home sick. #19 paid for 8 months @ \$11.00 - \$88.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #30 returned from hospital 11 Apr 1864, due \$149.98. #31 present. #36 on furlough for 28 days since 27 Jan 1865 and reported sick.

Walters, Moses - #3 Pvt, 12 May 1862. #4 age 20, Carnesville. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #25 was in the charge. #30 returned to duty from hospital 11 Apr 1864 and due \$137.85. #31 present. #36 wounded in action at Jonesborough and sent to hospital.

Walters (Waters), William T. - #2 age 18, Pvt, 20 Aug 1862, Carnesville, bounty due and paid. #3 #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #25 complained of being sick and lay out of fight. #30 present and due \$79.43. #31 present. #33 descriptive list of arrest for being absent: age 21, 5' 6" tall, fair complexion, grey eyes, light hair, resident of Habersham County, arrested in Clarksville 20 Aug 1864, now in Sgt J. M. Hadnett's charge. #36 captured near Franklin, Tenn 17 Dec 1864.

Watkins, John Jr. - #1 present. #3 Pvt, 12 May 1862. #5 age 25, Carnesville. #6 #8 paid for 4 months @ \$11.00 - \$44.00. #19 paid for 2 months @ \$11.00 - \$22.00. #23 at home sick, #24 absent without leave, #30 at home sick as shown by certificate from a creditable surgeon. #33* descriptive list of arrest for desertion: age 27, dark complexion, hazel eyes, dark hair, resident of Banks County, arrested in Clarksville 9 Sep 1864. #36 absent without leave since 30 Jan 1865.

Watkins, Robert J. - #1 present. #4 1st Cpl, age 26, 12 May 1862, Carnesville, bounty due and paid. #6 #8 4th Cpl, sick at hospital. #19 sick at hospital, dropped from roll as Cpl for continued absence 1 Mar 1863. #23 absent sick. #24 absent sick - is not known.

Watkins, William R. - #4 Pvt, 12 May 1862, Carnesville. #6 received furlough from 12 May til 2 June 1862. #8 has not been paid - paid for 7 months, 20 days plus clothing allowance \$104.62. #17 died at Vicksburg, Miss with typhoid fever 27 Mar 1863.

Whiton, Asa - #3 Pvt, 12 May 1862. #4 Carnesville. #6 received furlough from 21 May til 2 June 1862. #5 sick at hospital. #19 same report. #22* 9 Aug 1863 letter written o Capt Chitwood and sent to his wife Elizabeth to deliver instructing him to give his wife money he was due. #23 at hospital in Cassville 25 Mar 1864 and due \$149.98. #31 present. #36 absent without leave since 30 Jan 1865.

Willis, General F. - #1 present. #3 Pvt, 12 May 1862. #4 age 19, Carnesville. #6 #8 3rd Cpl, appointed 1 Feb 1863, paid for 7 months 20 days @ \$11.00 - plus clothing allowance - \$104.62. #19 paid for 2 months @ \$11.00 - \$22.00. #23 paid for 6 months @ \$11.00 - \$66.00. #24 present. #25 was in the charge. #30 sick in quarters and due \$152.63. #36 consigned to hospital 7 May 1864.

Williams, Robert L. - #2 age 13, Pvt, 1 Aug 1862, Carnesville, bounty due and paid. #3 #23 has not been paid and bounty due, paid for 3 months @ \$11.00 - \$33.00 and bounty \$50.00. #24 present. #24 was detailed as litter bearer. #30 present and due \$31.31. #31 present. #32* Commutation of ration while on furlough from 20 Aug to 17 Oct 1864. #36 wounded 10 Aug 1864 and sent to hospital

Submitted by: Claudia Chitwood Weller

* * * * *

REBECCA F. BOYD WILL - 1864

I Rebecca F. Boyd of the County of Weakley & State of Tennessee, being of sound mind and disposing memory do make and publish this as my last will and testament hereby revoking all others heretofore made by me. I direct that my funeral expenses and all just debts be paid by my Executor hereafter to be named out of any money on hand belonging to my estate.

I give and bequeath to my Daughter Penelope Winston two hundred & forty acres of land by estimation being a portion of my bottom land situated lying and being in the fork of Obion River, Obion County, Tennessee, for a more particular description of said land reference is had to the title papers on file in the register's office in said county of Obion.

I give and bequeath to my daughter Scinia C. Stubblefield my negro girl, Letha, valued at three hundred dollars.

I give and bequeath to my three sons, Abner M., John W., and William F. Boyd, all my household & kitchen furniture to be equally divided between them.

Being desirous to secure to my negro man Peter his freedom for life, I hereby instruct, authorize & direct by Executor upon the receipt of three hundred dollars paid to him by said Peter to adopt a ny legal course to secure to said negro man his freedom in any State having jurisdiction of such cases made and provided by Laws of said State.

I give and bequeath to the following persons to wit, Elizabeth Gilbert, Abner M. Boyd, John W. Boyd, William F. Boyd, & George, James & Emma Knox, the last three named persons being children of my daughter Cinthia Knox my remaining portion of tract of land lying and being in the forks of Obion River in Obion County, Tennessee, the same to be divided equally between them according to quality & quantity except the said three children of Cinthia Knox who only receive & represent one interest in said land in common being one fifth of the same.

I give and bequeath to my daughter Scinia C. Stubblefield notes and accounts to the amount of five hundred dollars the same to be handed over to her by my Executor out of any note & accounts belonging to my said estate taking her receipt for same.

continued

Rebecca F. Boyd Will - 1864 (continued)

After the settlement of my debts and estate, I give to my three sons Abner M., John W., and William F. Boyd, and my two daughters Elizabeth Gilbert & Scinia C. Stubblefield the remaining notes, accounts, & other property of my Estate not herein disposed of to be equally divided between them.

Now in the event the property now owned & claimed by my sons Abner M., John W., & William F. Boyd, two of whom are in the Southern Army, should be confiscated by the northern Government or northern Army now at war with the South and taken from them, my desire is and I direct, will and bequeath all the land mentioned in this will to them & their children forever otherwise said bequests in this will are to remain as above specified and stated and said Legatees to remain said Legasays as indicated and directed in this will. Finally, nominate, constitute, and appoint my son, Abner M. Boyd, Executor to this my last will and testament with full power and authority to execute the same. In testimony whereof I have hereunto set my hand and seal on this day of 1864.

/s/ R. F. Boyd.

Submitted by Miss Patricia Lee Murphy

* * * * *

INDEX

Adcock 31,34	Childs 38	Jackson 33	Purcell 45
Addison 30, 34, 35	Chitwood 30,31,32,33	Jacobs 26	Ramsey 45
Andrews 35	Clark 38	Johnson 30	Redd 26
Ayers 35	Cochran 28	Jordin 41	Richardson 26
Baird 35	Cole 30,38	Kasper 26	Roman 34,45
Bateman 33	Crump 38,39	Keller 30,41	Rowland 34
Bell 35	Davis 39	Keneday 37	Savage 45
Bennett 36	Dustin 28,29	Knox 48	Scott 45
Blackwell 34	Edmonds 39	Lee 27	Sellers 31,32,45
Boman 32	Erwin 34	Livingston 31,32	Smith 45,46
Boyd 48, 49	Fain 39	Loftis 41	Stimpson 26
Bradley 33, 36	Fairbanks 33	McClendon 31	Stubblefield 48-9
Brady 36	Farmer 34,39,40	Mabry 31,32,33,41	Sutherland 46
Briley 36	Fricks 31,33,40	Massengale 31	Taylor 26,27,46
Brock 36	Gailey 30	Maurice 31	Terrell 46
Broom 36	Gilbert 48,49	Meeler 42	Thomason 46
Brown 31	Guest 30	Minyard 31,32,42	Thompson 33,46
Brouard 26	Grant 27	Mize 30,33,42	Valdespino 26
Bruster 33	Haddick 40	Mosley 43	Walker 46
Buchanan 36	Hayes 30,40	Murphy 30,43,49	Walters 46,47
Bushey 37	Henson 31,40	Nations 43	Washburn 34
Butt 31, 33	Hickman 29	Nortin 43	Waters 34,46
Camp 37	Hix 40	Norton 43	Watkins 34,47
Canady 37	Holcomb 41	Oliver 43	Weller 26,48
Carr 29	Hosey 31,41	Parks 43	White 26,29
Carter 37	House 41	Payne 30,43,44	Whiten 32,47
Cash 37	Huggins 26	Pope 44	Williams 33,48
Cawthorn 30, 37	Hughson 26, 29		Willis 26,47
Cheek 37, 38			Wilson 29
			Winston 48-Wright

CREED

OUR LIVES are the gift of our many antecedents
OUR GOALS are to perpetuate their names and activities
OUR LABOR is to gather and preserve that left to us.
OUR LOVE to extend both backward and forward, so that
OUR CHILDREN may feel close to their fold and their land.
OUR DUTY is to share all gathered information, while
OUR HOPE is to interest others and to assist each member.

"The lines are fallen unto me in pleasant places; yea, I
have a goodly heritage," Psalms 16:6